

1) IZRACUNAJ:

$$a) (7a+3b)^2 = (7a)^2 + 2 \cdot 7a \cdot 3b + (3b)^2 = 49a^2 + 42ab + 9b^2 \quad (+1)$$

$$b) (10a-b)^2 = (10a)^2 - 2 \cdot 10a \cdot b + b^2 = 100a^2 - 20ab + b^2 \quad (+1)$$

2) IZRACUNAJ:

$$a) \left(\frac{4}{5}a + \frac{5}{6}b\right)^2 = \left(\frac{4}{5}a\right)^2 + 2 \cdot \frac{4}{5}a \cdot \frac{5}{6}b + \left(\frac{5}{6}b\right)^2 = \frac{16}{25}a^2 + \frac{4}{3}ab + \frac{25}{36}b^2 \quad (+1)$$

$$b) (a^2b - ab^2)^2 = (a^2b)^2 - 2a^2bab^2 + (ab^2)^2 = a^4b^2 - 2a^3b^3 + a^2b^4 \quad (+1)$$

3) ODREDI:

$$a) (3a-5b)^3 = (3a)^3 - 3 \cdot (3a)^2 \cdot 5b + 3 \cdot 3a \cdot (5b)^2 - (5b)^3 = 27a^3 - 135a^2b + 225ab^2 - 125b^3 \quad (+1)$$

$$b) \left(2a^2 - \frac{1}{6}\right)^3 = (2a^2)^3 - 3 \cdot (2a^2)^2 \cdot \frac{1}{6} + 3 \cdot 2a^2 \cdot \left(\frac{1}{6}\right)^2 - \left(\frac{1}{6}\right)^3 \quad (+1)$$

$$= 8a^6 - 2a^4 + \frac{1}{6}a^2 - \frac{1}{216} \quad (+1)$$

4)

$$a) \left(\frac{1}{2}a - \frac{3}{4}bc\right) \cdot \left(\frac{1}{2}a + \frac{3}{4}bc\right) = \left(\frac{1}{2}a\right)^2 - \left(\frac{3}{4}bc\right)^2 \quad (+1)$$

$$b) (13x - 12yz) \cdot (13x + 12yz) = (13x)^2 - (12yz)^2 \quad (+1)$$

$$c) \left(\frac{2}{5}a^3 - \frac{1}{4}b^3\right) \cdot \left(\frac{4}{25}a^6 + \frac{1}{10}a^3b^3 + \frac{1}{16}b^6\right) = \frac{8}{125}a^9 - \frac{1}{64}b^9 \quad (+1)$$

5) IZLUČI:

$$a) (ab-1)(a+2b) - (1-ab)(2a+b) =$$

$$(ab-1)(a+2b) + (ab-1)(2a+b) = (+1)$$

$$(ab-1)(a+2b+2a+b) = (ab-1)(3a+3b) = 3(ab-1)(a+b) \quad (+1)$$

$$6) \frac{x-2}{x^2+2x} + \frac{x+2}{x^2-2x} - \frac{4x}{x^2-4} = \frac{x-2}{x(x+2)} + \frac{x+2}{x(x-2)} - \frac{4x}{(x-2)(x+2)} = \textcircled{+1}$$

$$\frac{(x-2)^2 + (x+2)^2 - 4x^2}{x(x+2)(x-2)} = \frac{x^2 - 4x + 4 + x^2 + 4x + 4 - 4x^2}{x(x+2)(x-2)} = \frac{-2x^2 + 8}{x(x+2)(x-2)} = \frac{2(-x^2 + 4)}{x(x+2)(x-2)}$$

$$\frac{2(4-x^2)}{x(x+2)(x-2)} = \frac{2(2-x)(2+x)}{x(x+2)(x-2)} = \frac{-2(x-2)}{x(x-2)} = \frac{-2}{x} \textcircled{+1}$$

$$7) \frac{9}{1-9x^2} \cdot \left(x - \frac{x-1}{4}\right) = \frac{9}{(1-3x) \cdot (1+3x)} \cdot \frac{4x - (x-1)}{4} = \textcircled{+1}$$

$$\frac{9}{(1-3x) \cdot (1+3x)} \cdot \frac{3x+1}{4} = \frac{9}{1-3x} \cdot \frac{1}{4} = \frac{9}{4(1-3x)} = \frac{9}{4-12x} \textcircled{+1}$$

$\textcircled{+1}$

$\textcircled{+1}$